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CBT Practice test model answers

Accounts Preparation II (APII)

Practice assessment 3
Section 1

Task 1.1
[image: image2.png](a) Find the missing discounts figure by preparing the purchases ledger control account for the year

‘ended 31 March 20X7.

Purchases ledger control account

vi[vi[vi[v][v]

v

[Discounts received 3150 Balance bid 12250[q]
[Bank 143576 |Purchases day-book 150570[q]
[Purchases retums day-book 524] al
[Balance cia 14630 al
[«

162820 162820/

(b) Find the closing balance on the VAT control account for the year ended 31 March 20X7.
Note: The business is not charged VAT on s rent.

VAT control

vi[vi[vi[v|[v][v]

(&1 & AT TAI[A]

v

[Purchases day-book 24570 |Balance bid 1704
[General expenses 1472[Sales day book 1800
[Bank 5140 Purchases returms day-book 254]
[Sales reums day-book 320[Cash sales 500
[Batance ca 205

34558 =

7y






Task 1.2

[image: image3.png](a) Calculate the following as at 1 April 20X6. Do NOT enter any figures as negative.

Assets = [19850

Liabilies £ [5560

Capital = [1a000

During the year ended 31 March 20X7, sales of £63,900 were made. The trader operates with a gross sales
margin of 25%

(b) Calculate the cost of goods sold for the year ended 31 March 20X7.

£ [are2s




 
[image: image4.png](c) What was the value of the destroyed inventory?

£ [a720





Task 1.2, continued
[image: image5.png]{d) Which of the following describes why the value of the insurance claim is a current asset?
Choose ONE.

Itis a sum payable by the business in the shortterm

Itrepresents items which are each to be usedin the business over more than one
‘accounting period.

Itis an amount receivable by the business.

Itis an amount payable by the business thatis due more than a year after the year-end date.





[image: image6.png](e) Tick the boxes to show what effect this transaction will have on the elements of the accounting
‘equation shown below.

You must choose ONE answer for EACH row.

lpssets
[Liabilies

|Capital





Task 2.1
[image: image7.png]() Calculate the sales revenue figure to be included in the income statement for Onyx..

£ [255380

(b) Calculate the purchases figure to be included in the income statement for Onyx.

& [153570





Task 2.1, continued

[image: image8.png]Onyx Trading
Income statement for the year ended 31 March 20X7

[Sales revenue 255380)
[Opening inventory 25500

[Purchases 153570

[Closing inventory 26100

[Cost of goods sold 152070

(Gross profit 102410
[Other income:

[Allowance for doubitul debts adjustment n 600
lLess:

[Office expenses 31640

[Depreciation charges 9600

[Selling expenses 10532]

[Payroll expenses 16950

[Total expenses 68722|
[Proft /Toss for the year 34288






Task 2.1, continued
[image: image9.png](d) Which of the following regarding the financial statements of a sole trader is TRUE? Choose ONE.

Drawings are deducted from capital in the statement of financial position

Drawings are added to profitin the statement of financial position

Drawings are deducted from sales revenue in the income statement

Drawings are included in expenses in the income statement

(€) Indicate whether the following errors will be detected by a trial balance:

|A payment from the bank for telephone expenses has been debited1o the bank
Jand creditedto the office expenses account.

[Notdeteciea g

|An accrual for slectricity has been omitted from the accruals account The other
[side ofthe entryis comect.

[Petectea v

|An expense accountwas not closed offto the income statement account atthe
lvear end.

[Notdeteciea g





Task 2.2
[image: image10.png](a) Prepare the goodwill account for the year ended 31 March 20X7 showing clearly the individual

Goodwill account

entries for the introduction and elimination of goodwill.

vllvlv]

[Capital - Riva 41000 [Capital - Sam 57400[q]
[Capital-Sam 32800 [Capital - Terry 24500[q]
[Capital - Terry 8200 q

82000 82000[4|

Sam's capital account was £45,000 just before Riva's retirement

(b) What will be the balance on Sam's capital account after the change in the partnership?

3

[20400





Task 2.2, continued

[image: image11.png]{c) Which ONE of the following journal entries will be needed to show this in the accounting records?

Debit Current account - Riva Credit Loan account - Riva
Debit Loan account - Riva Credit Current account - Riva
Debit Loan account - Riva Credit Capital account - Riva.

Debit Capital account - Riva Credit Loan account - Riva





Task 2.3

[image: image12.png]Partnership appropriation account for the year ended 31 March 20X7

1 Apri 1 July
30 June X6

Profitfor appropriation 16000 64000 80000

[Sarares

[pema 5500 16500 22000

lBen 50 13500 7600)

[onris 0 72000 72000

[interest on capital

[pema 400 1200 1600
lBen E EQ 7200
[onris 0 500 Y
Profi avalable for 5200 79100 22400
Jdistribution

[Profit share.

[pema 3180 9550 12730)
lBen 2120 73| EH
[onris 0 73| 73|

[Total profit distributed 5300 19100 24400|





Task 2.4

[image: image13.png](a) Calculate the balance of each partner's current account after sharing profits. Indicate whether these
balances are DEBIT or CREDIT (the answer fields are not case sensitive).

Balance Debit  Credit

Currentaccount Jon £ 17400 [creait

Curentaccount  Pat £ 25280 [creait





Task 2.4, continued
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[image: image15.png][Financed by: Jon Pat Total
[Capital accounts 72000 18000 30000
[Curent accounts T7a00| 25280 2580

o400 43280 72680
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